BBE
PROVISIONAL ANSWER KEY

Name of The Post Assistant Engineer (Electrical), Class-2
Advertisement No 21/2021-22

Preliminary Test Held On 03-10-2021

Que. No. 001-300

Publish Date 04-10-2021

Last Date to Send Suggestion (S) 12-10-2021

Instructions / }ell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l

(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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001.

002.

003.

004.

00s.

006.

007.

yecfl-) or3fl U4l s2ell 3l U Hikd g2 »uda 9 ?

@:.4 (B) 3.4%
(C) 4.4% (D) 5.4%
A2aud2 32u-l dlordl Yaror, tuRdAHl Foranl [AraR

(A) adl 8 89,

@849,

(C) 818 an g2 «dl,

(D) vicel %orel adl 8 89 uig 2uRalld Faa [Arar adl 84 8.

dl 335¢lls QLS (The Radcliffe line) 21 541 221 A2 flxy Jvu 6 ?

(A) MURd 41 A (B) HURd A RAUAHR
@124 217 W ECELE R ENELTRIESTE)
2011 U A1 Yoror Alefl ay aredl Y2AadL AR A%l sl ?

(A) Briz HEY, H UBY, A3 @ u2a, weieg, Bisr
(C) HRINE, HSIRIZ, A3Ud (D) HMBe, HSIRRZ, Gr_uedl

@Rl A ©2019-20° i ariHl
1. 4R $Yl21L A2 dund $sH - (per capita net national income) 31 1,35,050 3
2. GuRdHi Akl At NSDP per capita 2l s+l €9,

BURSd AwsAL ASIAL
(A) 1 cusy Ay 89 (B) 2 L5 iU 8
@1 217 2 sl dou B (D) 1247 2 sl Aloy el

gl Ay (Sanctuary) A1 2u28lld Fordl 2 Apu-l A 21 U 56 oAl ulou el ?
(A) DU $1612 qA1E WS - Bruvis

(B) -UriHolaM (Nanmangalam) d3d $1322 - arfla-ug

.MHQH OAH (Amaram balam) And 51322 - s1les

(D) 4534 (Kukrail) A2d $132 - G2 U4l

2ol Hou2-Geual 21 2ecill o dl WS 56 Al wiou 8.
1. &) (R - asgiex

2. 2101 A8 3LHL WLl - E18ie

3. [Ra - [ARs Aol - siuasis

4. 7101 42U HUUL - 018

(A) 1413 @ 12
(C) 124 4 (D) 2 %A 3
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008. 1. 2120 AUHL 14 (el el »uda 8.

009.

010.

011.

012.

2. 92U 15 24YRA Fold2il 21 7 2uleH o2l ©.

BuRriL ALsAL ASIAL.

@1 asuuioud

(B) {3 2 QLU U1y, 69

(C) 1 341, 2 6l sl AU 89
(D) 1 311 2 6i ALsul U1y ¢

RURAML Fl 24 deil He 2l A3l
1. adl 4

2.60lg 1

3. 442 4

4. 20dl<) qed
(A)1-d,2-2,3-b,4-¢

@ -v2-c3-d,4-a

2. HRIME
b. WlZH sidoum
C. YUAM

d. A%
(B)1-¢,2-d,3-2a,4-b
D)1-2a,2-b,3-¢,4-d

-

1. $+2 (Ennore) 6ig dlHlarig vitd 20dd €. d siul2 &std uaH vig: & cidl AL, 515 x4 el

Alstu iy 69,

2. HOLAIR 6{gR sresHl 20dd 8 x euRY, 6§ well §iu dg 6ie 8 d srilesd, 2s WA Wy W &

osigdl 2112 2402 (Iron ore)-l Hlsi a8
(A) 1 AUSU UIY 69
@: s iiou s
(C) 1 241 2 i cusUl QLY 69
(D) 1 244 2 6i cusul qioy -4,

dleatrll (Thillana) 2 541 Jsil 218 LY ?
(A) 48l (Kuchipudi)

(B) 204 (Odissi)

.O{Qd'ila‘%l‘{ (Bharatanatyam)

(D) 55 (Kathak)

-\

AURAAL A%AL 24 Al A% -lA 410y, Ad A3l

1. AA30UAA U2
2. 97l

3. MRV

4. “RUA~S

@ -22-p3-c4-4
(C)1-¢,2-d,3-a,4-b

a. f211R

b. AUYR

c. il

d. sidlmi
(B)1-b,2-¢,3-d,4-a
(D)1-d,2-a,3-b,4-c
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013. 3% WlRAd vl 21 d-l aeran-dl2iHl Adlai WS 59 Al uioy ) ?
(A) igrun [AsionR - uié squr
(B) €181 dl ~121R Sdcll 24 HYL A gld - eHBL
(C) aaglu -suadl
@2 -a~S
014. Ana BAUH - gledl gL s S HI-l2AxR (Life in Miniature) M52 56 su-dl 118 23 s34 €9 ?
(A) HUSRS2 [ NEE)

N

(C) 5uvis (D) HHMA

015. AR-AMILL (Char - Chapori) 3 % SIAHL AHIARUL Sl d $4L AAAHE U 8 ?

(A) WA~ (B) »A3RUA4 Mg
(C) 9edluo1e [ eI

016. “UR YS1A 242491 Al AUSIR 51 69 ?
(A) ¥uea @ ice Ssena
(C) ifluig Aziuenn (D) lrs-u 21UR

017. QUAHL 2422 Auisl 24 d2L gladl AN AA 56 A8 ulou
(A) 2Ll 2018 - The Village by The Sea, The Peacock Garden
.ﬁ(—fx A%t - The Dark Room (1938), Mr. Sampath (1945)
©) [Qsu 26 - An Equal Music, A Suitable Girl
D) '@Qldd floL - A Train to Pakistan in 1956, The Sunset Club

018. 1€l curHi Quisl 2 dAi-l gld A diou d s,

1. 83dR1Y t12- a. dldlst, usnadl

2. anil Ay elsr b. HYuAL

3. 2A4R ollzandl c. Gasll, -la suu

4. Yusia Brudl d. 8IRL, gt
(A)1-¢,2-d,3-2,4-b @:-v.2-¢3-d,4-a
(C)1-d,2-2,3-b,4-¢ (D)1-b,2-d,3-¢,4-2

019. HAUSAHI 2UAA 6UY (Bagh) QUH SUL SIRQAA UvALd €9 ?
(A) (Rueul (Sculptures)
(B) R (Architecture)
.?Lirl WS[F2a1 (Cave painting)
(D) 48 (Waterfall)
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020.

021.

022.

023.

024,

02S.

026.

-\

9L AUAARL - 24 220 /el 2L U 56 A8 ulow ol ?
(A) 0 ARUAAR - HELAE DAl

(B) ¥l dvud - 5249

(C) 2Hl dvua - asigl

@122 uiaR - vl

“eaidl 20l ugiaul 2 22 118 Yaurt Al

5[5 2 BLAL UR 2ual ouy 51 Bl

21 1 [5adl e9g sul €9 ?

(A) dualaast (B) wgalafll3a
@12 (D) L5l
Auisl 241 At Guritnsll ol U4 56 Al dlou 69,

1. W[5 1% Mg - $ivd

2. I ARIY SRURARIA SLSIR - Al

3. GHieis: Forand Al - iyl

4. Rjeus Agend Hiel - du

(A) 1,21 4 @23
(C)2,3 %1 4 (D) 1,3 ¥4 4
VLY UL AL FHL AHIY L LGN A0(AL ALSIA LRIATIL UM LY L HUUAUHT 20 8 o 5L A%
GIRL A3 $AUHL 2A4 €9 ?

(A) Grruga (B) 2121d

@- s (D) HMB

2gA-o 2al deldl a0 210 weuzill B geu dRuadHl 2uadl 8dl d 2an wdl il su
unell ol g ?

(A) 24Ul (Shakha) @+ (Chama)
(C) Rl (Ratha) (D) W% (Yajna)

A2 U sl de Alefl gl de & ?

(A) AHAE (Samveda) (B) qi@a (Yajurveda)

@ 0c (Rigveda) (D) 4ade (Atharvaveda)
Wil AL (Pala Kings) d2od U4l [QsHallan yRaid- 2 519 s3a ¢dl ?
(A) 2UuLel (Gopala) @+ {we (Dharmapala)

(C) 2au14 (Devapala) (D) 2auwid - ool (Devapala 2)
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027.

028.

029.

030.

031.

032.

033.

034.

035.

036.

2l 44 91321 U el HsRioru [ARl Bur A8 / B8 »uR sial s34 8 ?

(A) dd g5 (B) 243 -Urised

(C) Hlwus @13 2e
llcu HeIR1 L AHAHL A2 adlaz HIZ Sedl UL Sl ?

(A) 6 HAL [ neausi) @s 020/ naHl
(C) 12 =24l / au-il (D) 20 =24l / utu-il
vigiof 6121 yd [3+uR1 GuR uldlg iR 3+ 58 Ui A3 s34 e, ?

(A) M1 (B) ydls2

@ Auzn ayedl) D) s

VL1 AUAS SAL SIRBIU SAUHL 2AA el ?

(A) RA SIMEIRL, WARML S1M $cdl HRIAL A HI2
@ 1[al@A 518 wdya yacd v w

(C) ¥igd 2ol 4russ-u dlA4ui

(D) Getlolmi 243 Semuudl €2 sal

99ttt Wil SlasiAg Aanan s2-UR [Agiini DA WA sid un [Adu onsllg © ?

(A) 3L. 2UR A Uddl (B) 3. sdmaue weAl

(C) 3. sauyu Al @:i. s s

pAAHL AAA sild-L Bs S Sell ?

@D 124l Hin (B) <l budls Hin

(C) Al s 2l D) 2l Sgana wlsis

gl 3+ $22 S-flan Su-dl gi2u dui-l nan §523) s 20 uuAHi 20d4 ¢dl ?

@2 (B) Hudluz-u

(C) M3 (D) Hs1A

ol udye-ll azeid Gu o33l tuiq Aval die S22 “ollS 2ils 3yl 22 UL 20 53¢ &)L ?
(A) yallewoue (B) HILQYR

@:« (D) &vinG

aRd-ll uaH s1uiydlsa sudl sun sl v s1miydlsa sudl-u euus sl gdr ?

@0 usai in (B) 4l §1Hl % *uew

(C) Al A% 1R (D) £l ¢<ulde vi-u

1946 Ul S8l e 20l (INA) Ul YseHi viaia ual D2 WAL sa usigeia asld ddls 4 gdl ?
(A) Al oregeusd g (B) A udld Fusend 183

@510 i) (D) 3auai-ua siey
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ME

037. 1. 1951-1956 e uaH YAala dlo-i a3 sl 2udd, vidl [@5 d dlor-iql You 8d sdl.

038.

039.

040.

041.

042.

043.

2. 41 1956-61 10 6ll2 yaaly i Y.l wsia-iolla widd Gu 2uadld sdl, Alaillswa

AlogUrll Jud 8 Sl
BURASd ALSUL ASIAL.
(A) 1 cusu AY 89
@1 217 2 cwsil dou B

(B) 2 Al ALY ¢
(D) 1 244 2 cusl Aoy gl

2N dUIRHL “BPD” 2154 58 dd, 12 Aol 4Ad 8 ?
(A) e 2215 24 42+ (Meat and Livestock)

(B) [31d) tugAl (Precious Metals)
©) Alaadlls Cl%@bﬂ (Industrial Products)
@:: >S4 (Crude Oil)

gl -ueuHl uaudldl (Liquidity in the system) 8213l H12 2+l GUALLL $aUHE 20d €9 ?

(A) i e (Repo rate)
._}:Ql Qosed 90l (Cash Reserve Ratio)
(C) WS &-§l21 32 (Prime Lending Rate)

(D) BPLR (Benchmark Prime Lending Rate)

SAlAL U8Rl (Hawala Transactions) $41 S48l 51201 Mldsidla ¢ ?

(A) FERA
(C) FRBMA

@rcva

(D) AFSPA

cuRdHidl 4y (Honey) -l Aledl atl 2ua1d $7UR s4l 2L €9 ?

[ ZERE

(C) Al

(B) oH-l
(D) Sl

2AHL vuHIdl §R sl dRIeyaq Wdlfl (Redistribution Policy) AHAML Y5l 2ud 6.

2 wilflui 59 ouotd-l amd wx ¢ ?
(A) widiAla 254 uidlRdl

(B) 2l Yauieu

(C) A [asiau-l aigui

@)Guzisa el i

AL HAUHE E4l Hedd, (A seen unu yild sl e ?

(A) 3 W

@2

(B) 6 WA
(D) 24 WA

[BBE]
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044.

045.

046.

047.

048.

=

oivsi-ll 253l dRddl (Cash in Hand) 21 $& [Rasdl, AlssA 10l Wi wami 2ud € > slliq g
PRETURT N

(A) SBR (Statutory Bank Ratio)

@sLr (statutory Liquid Ratio)

(C) CBR (Central Bank Ratio)

(D) CLR (Current Liquid Ratio)

AR AU SR8, PUUR AR AR 2L YU
(A) 8213l 23l

@2 29

(C) vt Hi2L YHIRML AtIRL [ 4218l 28l
(D) 515 AR €l W

1. “DUHL L G{HIRRIAL ML 89”7 ) tlold, SAcU-E MuRdl SuE, 13 Hirl. =adleil Al 6l g1l 21 eueid
455l 2dd edl.

2. IR GIEIRRIAL UHMHL HIRdA A1dH AHrael, BrinineiRs dlsuel 2o oiriaa w2 dse
546,

BURSd cAwsAL ASIAL.

(A) 1A T sy ALY 8

(B) I3 2 LA A1 €9

@1 21 2 vi s diou B

(D) 1 311 2 6i ALsul U1y )

1. YK 8551 B oL 3 Wi eAlde 6 d 8551 A Adl HAU HL 5L SIUEL AU 53 AsA )
2. 08R s sustdui sl AHLAL 2uuni 2uddl 9.

3. BUYS SIHAUMT BRUSS Vi 251U AHAL 2 HIS 6{HIRAHE 4R PUUUHT H0dd €9
BURsd cAwsAL ASIAL.

@ 22113008 (B) 1241 2 412U 6

(C) 2 3U2u 89 (D) 1214 3 u12u 89

1. YOG4 $% MLOL - 4 57 )l 5441 51 “5” S ealda 8

2. Y $9H1 ilAkHL 4241 YAIRL 2 464 YruuEl suotdl GHami 2uddl 9.
3. XA 594 2 Alds oL (oL 8

4. “YNGid 5907 Al v AL simR_AI Aami 2udd 8.

BURsd cusUL ASIAL.
(A) 1,2 2 4 csUL ALY 89 (B) 1, 3 1 4 cusul 4ioy 89
@, 2213 s dou (D) 1,2,3 %14 4 cusdl 4ou 8
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049.

050.

051.

052.

053.

1. APUAAMHL ACAUE] s HI2 agnH GUR 35 aui-ll sidl #3218,
2. ALSAGUHE U ue-ll Arasid 112 agad GHr 30 au-l o34 8.
3. AL ACUYE WS- QS MR- GiIRRIAL $aH 44 Hi saldd ©.

BURASA cUSUL ASIAL.

(A) 13 312U 8 (B) 2 ¢4 3 41y 89
(C) 12 41U 8§ @, 2 14 3 0000 )
A ausal AL

N

1. 835 HAlA da euRd- 2l g o Hiddl 515 Asul x4 AYsd tiss Sl dl dHl 8192 Wl
855 8.

2. MRAMl el g, d 2 AMlani A glu dui ¢l darll 2ASR 8 ug H 2L 855
28l .

3. MIRd Bu-guld, Sigt-dl 324 AlsAMIU a1 8.

(A) 1,2 1 3 A5l 4iou € (B) 2 24+ 3 L5l U1y 69
(C) 1247 3 sl dlou & @1 217 2 sl dou B
A sal SR

1. ueAUE HIHl SRASLArL utidl 2idi-L sl Gu (Rl daidl A Hid. eguld-l .

2. -wau [A8usl 2450 21g269¢ 109 Al 117 A S 2 20l A Aue-w siduR s [Qdus ardl
AU 8.
(A) HIAL T cusy AU 69, (B) 3L 2 AlSU Q1Y 69,

AR

(C) 1247 2 bl cusl diou el @1 211 2 vin sl dou 8.

“Aue-dl tlss ALY A SlU AR azgsHl URg sl At HiA 0uldd 8.7 — 2 s ®iRdrL
sitRedl 59 sanui salda ® ?

(A) 121 (B) 122

@23 (D) 124

1. “Apaud dls [Angsl Adl 2091l o’ cud- eitierdl sau 15840 salda 9.
2. ouuLAHl SIE AL, GURA-L sitReL-l saH 15940 saldd .

BuURASd ALsUL ASIAL.

(A) HIAL T sy ALY 89,

(B) HIA 2 cULsA U1 89,

(C) 1211 2 b sl UidY 89,

@1 21 2 vin cusal diou Al
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054. 1. ciaRRl 5441 129 Yoror, GRAAH —AAY 518 A 8.
2. 51813l euotdl 2eidl Grudu ~uaaaHl A0lad 85HA 0L Aot ¢uRd-L st san 13440

galda 69,
3. BRAdH ~uaun [R2 sieaurl At cuRd- sl san 13940 salda 9.
BuRSd oLl ASIAL:
(A) 134 2 Uidu 89, (B) 2 ¢4 3 U1y €9,
@1, 22130008, (D) 1244 3 4oy 69,

055. AU 53 causu uloy 4l ?
(A) Azauagl-l [ugs guld gial saumi 2ud 8.
@v0u-2 Ad 2uasi-u glard Yed 6 a8 8.
(C) R~ iRl sau 159 yoror, Grunau- You =uayld osauagla wlasu dasid .

Ya)

(D) “Arauadld Hge $dl, AAS dual Hofl {3t 8A” 24 AU s{aRl sau 163410 saui
dE 8,

056. 1. MR IR $QH 243 W (243-B) Yool ULl 24+ $AUHL 204 €9,
2. GURAHL GIIRRLAL dldRHE YUIRLA 51281, S ANASG 2L LR EMA sAURT A 8.
3. 2L AN AL dl. 24-4-1996 AHAU] 24 A 69,
(A) 1249 3 4100 8. @1 > 20008,
(C) 2 ¢ 3 uidu 9. (D) 1,2 24 3 4ioy 69,
057. 17 SDGs (Sustainable Development Goals) -l [RUgHI U 2020+ -lld 2uuloL HYoror NAH i olla
221 S UL ?
@i 21 RBuaa uga (B) 320U A dilRianing
(C) [Bad uga 244 duial (D) dlRa-ug 24 dliw

058. North Eastern Region District SDG Index $i-ll g121 S8R $cUHi 20 €9 ?

(A) Axd 6irs s Sl (B) -uens
@ 2uia (D) ~eu Houay
059. ALY %351 A3,
ENE] TERE TR SRR | REYCKT
1. A8 A AU ALsAAL UL a. 320
2. dls Al UALLAL S1UL b. 323
3. AU [AMegs-Hed c. 315
4. dis Al uAioe- A d. 316
(A)1-2,2-d,3-b,4-c @:-c2-23-04-0
(C)1-d,2-b,3-¢,4-2 D)1-b,2-¢,3-2,4-d
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060.

061.

062.

063.

064.

065.

066.

067.

ROt | SRR

(A)7
®s | 7|2 3|1 5 | s 8 | 1
@ ., . 6 | 2 6 | 6 4 | 9
(D) 10

el oo YRl @ @

(A) 12

(B) 14 @
@ )
Ot | SRR
-
(©) O

1 2 3

@r

9, 16,23, 30, 39, 44, 51, evvry cery weeee WLl AOUL YR,
@:s. 65,72 (B) 59, 66, 73
(C) 56, 66,76 (D) 54, 61, 69

78 [3fl/scusll orsu el 27l donsS 800 W12 €9 A d 2i5 2 1 Hl-leni uaR 52 8 d 2na-l dond
sedledl ?

(A) 400 {122 @s00 022

(C) 600 12 (D) 700 12

-\

25 quIAlA wdle (Bud Guz 22 % % 5L AOLAL €9, % d-L AR 3. 39200 SiA dl dAd 2¢l A5l Hold ¢l ?
(A) 3L 5,600 (B) 3L 6,400

@:. 7.200 (D) 3L. 8,000

25 2ellui AR GHEARIA 2gsH 1136, 7636 27 11,628 H HUUL, 2 AAUHL Ddal BHEURA S2a
251 (%) Hd HAQ ¢l ?

@s (B) 54%

(C) 47% (D) 67%

A, B C g u2RA A% 45 Sl 9. A2 B g 42U A% 40 Sledl €9 27 B 21 C g %L AR A%
43 el 8. 2 AU B f aw-t 52¢ s ?

(A) 38 Qlal (B) 34 Slal

@;1 24l (D) 27 flel

[BBE] [PT.O. n
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068.

069.

070.

071.

072.

073.

074.

07s.

66 8- A-2lHl22 aidlnidl 1 Hledl Hle: cn q2nadl s2a {2 dioil diR oi-udl aswu ?

(A) 84000 (B) 8400
(C) 840 @34

2 8 21 4 22 [3Hd 31 1600 8 dnr 1208 6 2+ [Bud uat 31 1600 9, dl 12 22l [BHd sedl ¢l ?
@:. 2.400 (B) 3L 3,600

(C) 3L. 4,800 (D) 3L 7,200

25 glfl ueus w0 11 [BHlseasN 33U 214 uas [A3gni 5 (34)/saus- 53U o8 a5 €. 20 AUl R
wiellui sidl-l ssu s2dl wal ?

(A) 3 3:l/sans B) 5 [3l/scus

@s Gyscus (D) 11 BH/seus

3L 50w Yeurit Sl6lAR 10% RasiG2/aziadl wol 8. §lolu: BuR 13% o 155l sAUHi »uda ©. o d
A5 2000 §oia: dlag Sla dl d S2a 25t 2l 2uas A8l U 1 82l ?

(A) 12.28% @5

(C) 16% (D) 12%

A2 Hqvaal G4 568 v wioy ) ?
6,9, 15, 21, 24, 28, 30
(A) 15 (B) 21

(C) 24 @:s

SIOURL USIRAL [AAu Q12 w15 s A 54 Bscusl aldsdl 2 9. 20 s (@ ulda, 45 33y
scsll suddl o 69, i A%AUHL 21 61 LY A Sean HIHle Asu e ?
(A)8 (B) 9

@ (D) 11

A, B 520l 4 4t GUU{ {2l O 2 B, C 5L 6iHEll GHL 9. A, B 24 C )l UL AUV 54 Ay €.
L AAUHE B )l GHR S2cl w3l ?

(A) 14 (B) 16
(€) 18 @:0
s adlunHi auRndl s 2825 “quartz crystal” A ......... 6.

@5 sisuss (Silicon dioxide)
(B) FH[Aun 2503 (Germanium oxide)

(©) [Rlasiq srsss s gHlRuM 253, A2 (mixture of Silicon dioxide and Germanium
oxide

(D) A3 Rilase (Sodium silicate)
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076.

077.

078.

079.

080.

081.

082.

aieflar ALt (washing soda) :l, UMY UK -
.Qflﬂml sietiie (Sodium carbonate)

(B) 3¢llun 510US3 (Calcium carbide)

©) selun suusieide (Calcium bicarbonate)
(D) ALflan s sieiae (Sodium bicarbonate)

“221¢ifAa dly” (Tetraethy lead) -l g GuuloL i €9 ?
(A) &u/U- 82134 (painkiller)

(B) 2021 t42nql (fire extinguisher)

(C) HA9R LIECTE| RETREIE (mosquito repellent)
@21 GR2w (petrol additive)

RURA 211 Y.5. (U.K.) U AsuAs13 “Hand washing robot” t1-Udd 9 d 9 UH 204 8.
(A) 2l (Gope) (B) 8\l (Hepe)

(C) €lu (Hope) @0 (Pepe)

RURAHL 2A21H]s 2112 ‘Atomic energy’ Il [Udl sim @i 2ud ¢ ?

(A) AL.U.%. Ho6A S (A.P.J. Abdul Kalam)

@< 3. cucu (Homi J. Bhabha)

(C) A2 RH~U (Raja Ramanna)

(D) il A6+ (Homi Sethna)

S5l ﬁ*@% su3ldL (addictive manufacturing) A oflon su1 umel uRL AMHi 20d €9 ?
(A) 2-D M1-3l31 (2-D printing)

@3- 042 3-D printing)

(C) CPU iuwidl (CPU assembly)

(D) HHI) AU~z (memory management)

A Y4 1A “S+saA Bi-2R”’ (inkless printer) d3l3 el 2o 204 €9 ?
.9{1-&-{ Bir22 (thermal printer)

(B) S+ g2 Mrer (inkjet printer)

(C) OCR

(D) sie Qél&%t (YEEY (dot matrix printer)

HAdIiAH 2 (environment) A0¢ 5O il Aaiui vuda ¢ ?

A) As (B) ®a-lla

(C) 3A» @:~
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083.

084.

08s.

086.

087.

088.

089.

090.

091.

2edllser A510eHS AR §R s Y 54 w33 © Pl sunil aloy [Asiu wn ?

(A) ola AUlRlls visHl 61y $2A

(B) tal Hleiofls 2l A3 - sa

@150 ey sal, wallA diou d uBun s udl o Dsia 520
(D) 2AsHIA H Al €2 2euuaiL »ugell >uul

‘Qal’ (Java) 15Ul V5H GIRL Udd $AUHL 20dQ Sl ?
(A) IBM

(B) Intel

.21’1 HusidlzeH (Sun Microsystem)

(D) Microsoft

auRdul [Qas [Bax (National Teachers Day) $013 GosacuHi »ud ¢ ?

(A) ARWIR-2 (B) 124
@225 (D) W2342-6
“ALUAV” Il GeUlgr {12 Ul A8 HoUAU A1 $UL 22 $A 534 9 ?
(A) 31 (Russia) @ > UsaA
(C) Al (China) (D) %4l (Germany)
“D4S Aen”’ A [Asin w2 cudla A8 Honau e 518l $A s34 8 ?
@poroo (B) HAL

(C) ISRO (D) CSIR

SLAUT MU AR5 2l5IH A (Telecom sector)Hi 32¢lL 251 % FDI A ttgiel »u) ¢ ?

(A) 60% (B) 85%
(C) 90% @ 100%

Asid S voi veurlar 39018 S S+ (Reform in Urban Planning Capacity) -l S RETIC) Y €35

282 “Healthy City for Al J @auis su1 ad Yl wd sa14 6 ?
(A) 2025 @:030
(C) 2035 (D) 2040

[Bedl- 41 1ud 5 % curd-l Al divil Asuiu s1ud 8, d 2l AAHiEl uuR 4 6 ?

(A) 4 B)S

@: D)7

iRl gL UL g2l A 51e) “yseluR - war” Audfld AHIAA il $2AA sA 8 ?

(A) 5174 24, %Y+ (B) tll2t A 514
(C) MR 21 1051 @0z 217 21304
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092.

093.

094.

09s.

096.

097.

098.

099.

100.

a¢s Yz A5l 3 (World Patient Safety Day) s413 Goanu €9 ?
@5 w2ur (B) 16 w242
(C) 17 WR¥IR (D) 18 ARW1R

NCC L catus Alan s 488 Hauau gL siq xieae e sHE aami 2uda ¢ ?
(A) 2Uivie udll (Anand Mahindra) @100 vis) (Baijayant Panda)
(C) 1. 2. Qi-l (M.S. Dhoni) (D) AyHL $14d (Vasudha Kamat)

AT based GUMIAL AAUE HIZ AUlF2AR-MUB 52 B3 56 e g1l dlsuda 6 ?
(A) IIT, Delhi @1, Mumbai
(C) IIT, Kanpur (D) IIT, Chennai

-\

6a1z2 $31™ (Blast Furnace) Hidl 6uRion CO, vl A5 dd MRdg NAH CO, SRR w2 si8l
[asmade ¢ ?

(A) L&T (B) ONGC

@ 1ata scel (D) BHEL

agflla wefl-ou (Lashith Malinga) 5 2204 s1aqui (Bseuidll Radl 4 © dail saeaqu viandl sa ?
(A) dz2 $-§l (West Indies) (B) tidcliz el (Bangladesh)

(C) $04= (U.K.) @+\cist (Sri Lanka)

Yaga Hlart 2021 “Peaceful Mission 20217 A5AA15 5UL 22 G121 AFAUHL 2UAA Sdl FHL MIRd
audL dléd gl ?

&-Lu (B) 22 dlat
(C) Al (D) slidcugal

Nt wicsart Nellal ars-l W2 59 AL glL 33U Y4 (Campaign Shoonya) A3 $AUHL HUAE €9 ?
paig y

(A) Su @06 2o

(C) IIT, A (D) 311 irs

“uo HdgUAd A8 YRARZL AL dle-a His. A3MHLA GIRL UL ASUL 5L 20 Sl ?

(A) |28 (B) il

[ ZEIE (D) %UYR

Sor gioor dleA) W »-2021 (King Sejong Literacy Prize-2021) 5 % 3rizsl (UNESCO) 6121 HUMAlHi
204 8. d 46 AUl 2] 20da D ?

(A) IGNOU (B) CBSE
(C) NCERT @~os
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

The value of the temperture co-efficient of material depends on
(A) length of the material (B) cross sectional area of the material

(C) volume of the material .nature of the material and temperature

Two electric bulbs rated for the same voltage have powers of 200 W and 100 W respectively.
If their resistances are respectively R, and R, then

(A)R, =2R, @r, -2r,
(OR,=4R, (D)R, =4R,
Figure shows a part of closed circuit. What is the value of VA - VB?
3V
2A 2Q | 1Q
Ae > VWWA— | VYWW\—e B
(A) 12V @V (C) 18V (D) 6V

A house is served by a 220V line. In a circuit protected by a fuse marked 9A, the maximum
number of 60W lamps (operating at unity pf) in parallel that can be turned on is

@:: (B) 44 (C) 22 (D) 20

A circuit consisting of inductance L. = 10H and R =2 Q is switched on to a dc supply of 20V. The
time taken by the current to reach 63.2% of its final value is

(A) 20 sec (B) 10 sec

.5 sec (D) 2 sec

A certain air capacitor has a capacitance of 20 pF. If a dielectric having relative permittivity of
5 is introduced between the plates, the value of capacitance would be

@00 vr (B) 4 uF
(C) 20 uF (D) 0.25 uF

In a certain RLC series circuit fed from an AC source, the value of power factor at resonance is
.unity

(B) zero lagging

(C) zero leading

(D) zero leading or zero lagging depending upon the value of inductor and capacitor

A balanced star connected load having an impedance of Z/p and connected to a 3-¢ source may be
replaced by an equivalent delta connected load having an impedance of

(A) Z/p (B) Z/3¢
(C) 0.33Z/o @:zo

If the separation between the three phases of a transmission system is increased
(A) the inductance will increase and capacitance will remain unchanged

(B) both the inductance and capacitance will decrease

.the inductance will increase and capacitance will decrease

(D) both the inductance and capacitance will increase

[BBE] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


110.

111.

112.

113.

114.

115.

116.

A certain periodic voltage waveform has an rms value = 30V, average value = 20V and peak
value = 60V. Its form factor is

@ (B) 2

O3 (D) 0.66

For the circuit shown in figure the value of Thevenin equivalent resistance Rth across terminals
A-Bis

40 50 A

RL
(A) 15Q (B) 3.5Q
(C) 6.4Q @

According to maximum power transfer theorem, under the conditions of maximum power transfer,

the efficiency is

(A) 75% (B) 100%

@02 (D) 25%

In a two-port network containing linear, bilateral passive circuit elements, which one of the
following conditions for z-parameters would hold?

(A) Z,52y (B) z,
O z,2,=12,7, .le =17y

In a two-port network, the output short circuit current was measured while the source voltage at

Z21 = ZIIZZZ

the input was 1V, the value of the output current would provide the parameter
AcC B)y,

(©h,, @:.

s/(s? + ®?) is the Laplace transform of

(A) sinot .cosoat
(C) coshwt (D) sinhwt

For V(s) = (s + 2)/(s(s + 1)), the initial and final values of v(t) will be respectively
(A)land1 (B) 2 and 2
(C)2and 1 @ :na2
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117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

Currently, which battery is preferred for hybrid vehicles where high performance rather than
cost is the main criterion?

@ithium ion (B) Sodium Metal Cloride
(C) Nickel metal hydride (D) Nickel cadmium

The ripple factor of a full wave rectifier without filter is

@o.452 (B) 1.11

O1.21 (D) 1.57

A common collector amplifier has the highest

(A) voltage gain .current gain

(C) power gain (D) output impedance

The input resistance of an ideal voltage amplifier is
(A) zero (B) unity
.inﬁnity (D) any of the above

A properly biased JFET will work as
(A) current controlled current source (B) voltage controlled voltage source

.Voltage controlled current source (D) current controlled voltage source

Zener diode is used as the main component in dc power supply for
(A) rectification .Voltage regulation

(C) filter action (D) providing constant current to load

The core flux of a practical transformer with a resistive load
.is constant with load changes (B) increases linearly with load

(C) increases as the square root of load (D) decreases with increase in load

Full load voltage regulation of a transformer is zero when the power factor of the load is near
.unity and leading (B) zero and leading

(C) zero and lagging (D) unity and lagging

At 50 Hz operation, a single phase transformer has hysteresis loss of 200 W and eddy current loss
of 100 W. Its core loss at 60 Hz operation will be

(A) 432 W (B) 408 W

@54 w (D) 360 W

It is desirable to eliminate Sth harmonic voltage of an alternator. The coils should be short-pitched
by an electrical angle of

(A) 30° @:o
(C) 72° (D) 18°
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127.

128.

129.

130.

131.

132.

133.

134.

The synchronous reactance is the

(A) reactance due to armature reaction of the machine

(B) reactance due to leakage flux

.combined reactance due to leakage flux and armature reaction

(D) reactance either due to armature reaction or leakage flux

Which one of the following methods would give higher than actual value of voltage regulation of
an alternator ?

(A) ZPF method (B) MMF method
@ Mr method (D) ASA method

If Xd, X'd and X"d are the steady state, transient and sub-transient d-axis reactance of a
synchronous machine respectively, which of the following statements is true?

.Xd >X'd>X"d (B)X"d>X'd> Xd

O)X'd>X"d>Xd D) Xd>X"d>X"'d

A synchronous motor is operating on no-load at unity power factor. If the field current is increased,
the power factor will become

(A) leading and the current will decrease

(B) lagging and the current will increase

(C) lagging and the current will decrease

.leading and the current will increase

In a synchronous motor, the synchronizing power comes into action when
.rotor speed either exceeds or falls below the synchronous speed

(B) rotor speed is equal to synchronous speed

(C) rotor speed falls below the synchronous speed

(D) rotor speed exceeds the synchronous speed

An induction motor and synchronous motor are connected to a common feeder line.
To operate the feeder line at unity pf, the synchronous motor should be

(A) underexcited .overexcited

(C) normally excited (D) disconnected from the common terminals

In an induction motor, if the air gap is increased
(A) its speed will reduce (B) its efficiency will improve

.its power factor will reduce (D) its breakdown torque will reduce

The mmf produced by the current of 3-f induction motor
(A) rotates at the speed of rotor in the air gap

.is standstill with respect to stator mmf

(C) rotates at slip speed with respect to stator mmf

(D) rotates at synchronous speed with respect to rotor
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13S.

136.

137.

138.

139.

140.

141.

142.

A 4-pole, 50 Hz induction motor runs at a speed of 1440 rpm. The frequency of the rotor

current is

(A)3 Hz (B) 2.5 Hz

(C) 1 Hz @: 1

Candela is the unit of which of the following?

(A) Wavelength .Luminous intensity
(C) Luminous flux (D) Frequency

An induction motor when started on load does not accelerate upto full speed but runs at
1/7th of rated speed. The motor is said to be

(A) locking (B) plugging
.crawling (D) cogging

In a single phase shaded pole squirrel cage induction motor, the flux in the shaded part always
(A) leads the flux in the unshaded pole segment

(B) is in phase with the flux in the unshaded pole segment

.lags the flux in the unshaded pole segment

(D) is 180 out of phase with the unshaded pole segment

A universal motor runs at

.higher speed with dc supply and with less sparking

(B) higher speed with ac supply and with less sparking

(C) same speed with ac and dc supply

(D) higher speed with ac supply but with increased sparking at the brushes

An over current relay used for phase to phase fault protection can be set at
(A) 20% to 200 % of the rated current in steps of 10%

(B) 10% to 100 % of the rated current in steps of 10 %

(C) 10% to 50 % of the rated current in steps of 5 %

.50% to 200 % of the rated current in steps of 25 %

In a 4-pole, 25 kW, 200V wave wound dc shunt generator, the current in each parallel path will be

[ TPEPN (B) 125 A
(C)31.25A (D) 250 A
If the applied voltage is 230V, then the back emf, for maximum power developed is
@5y (B) 200 V
(©)230V (D) 460 V
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143.

144.

145.

146.

147.

148.

149.

150.

151.

The speed of a dc shunt motor is

(A) directly proportional to back emf and flux

.directly proportional to back emf and inversely proportional to flux
(C) inversely proportional to both back emf and flux

(D) directly proportional to flux and inversely proportional to back emf

A dc¢ shunt motor, running lightly at 1000 rpm is operated under plugging. With plugging
connections left as it is, the final speed of the motor will be

(A) zero (B) 1000 rpm

(C) slightly less than 1000 rpm .1000 rpm in reverse direction

If the field circuit of a dc shunt generator exceeds its critical value, the generator
.fails to build up (B) builds up a very high voltage

(C) exceeds its current capacity (D) produces power beyond its rating

Open circuit test on a transformer gives
(A) hysteresis loss (B) eddy current loss
(C) copper loss .sum of hysteresis and eddy current loss

A 10 kVA, 400/200 V single phase transformer with 10% impedance draws a steady state short
circuit line current of

(A) 50 A (B) 150 A
@250 (D) 350 A

Two coupled coils connected in series have an equivalent inductance of 16 mH or 8 mH depending
on their connection. The mutual inductance M between the coils is

@: nn (B) 4 mH
(C) 12 mH (D) 8¥2 mH

A dc shunt motor has external resistance of Ra and Rfin the armature and field circuits respectively.
The armature current at starting can be reduced by keeping

(A) Rf maximum and Ra minimum (B) Ra maximum and Rf maximum

(C) Ra minimum and Rf maximum .Ra maximum and Rf minimum

Two 3-limb, 3-phase delta star transformers are supplied from the same source. One of the
transformers is Dyl and the other is Dyll connection. The phase difference between the two
corresponding phase voltages of the secondaries would be

(A) 0 degree (B) 30 degrees

.60 degrees (D) 120 degrees

The inductance of line is minimum when

(A) GMD is high (B) GMD is high and GMR is low
(C) both GMD and GMR are high .GMD is low and GMR is high
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152.

153.

154.

155.

156.

157.

158.

159.

Which of the following power plants will take least time in starting from cold conditions to full
load operation?

(A) Nuclear power plant (B) Steam power plant
.Hydroelectric plant (D) Gas turbine power plant

Shunt capacitance is usually neglected in the analysis of
.short transmission lines

(B) medium transmission lines

(C) long transmission lines

(D) medium and long transmission lines

A three phase transmission line of negligible resistance and capacitance has an inductive reactance
of 100 ohms per phase. When the sending-end and receiving-end voltages are maintained at
110 kV, the maximum power that can be transmitted is

@121 mw (B) 1213 MW
(C) 363 MW (D) 363 kW

Series compensation on EHYV lines is resorted to
(A) reduce the fault level

.improve the stability

(C) improve the voltage profile

(D) as a substitute for synchronous phase modifier

If the penalty factor of a plant is unity, its incremental transmission loss is

A) 1.0 B)-1.0

@z (D) Infinity

A transmission line of 210 km length has certain values of A, B, C, D. If the length is made 100 km,
then the parameter

.A increases and B decreases (B) A and B both decrease

(C) A and B both increase (D) A decreases and B increases

For protection of parallel feeders fed from one end, the relays required are
.Non-directional relays at the source end and directional relays at the load end
(B) Non-directional relays at both the ends

(C) Directional relays at the source end and non-directionals relays at the load end
(D) Directional relays at both the ends

In GS method of load flow, a voltage controlled bus is treated as a load bus in subsequent iteration

when
(A) active power limited is violated .reactive power limit is violated
(C) voltage limit is violated (D) phase angle limit is violated
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160.

161.

162.

163.

164.

16S.

166.

167.

168.

The unit protection scheme provides
.primary protection (B) back-up protection

(C) simultaneous protection (D) remote protection

Mho relay is normally used for the protection of
.Long transmission lines (B) Medium length lines
(C) Short length lines (D) No length criterion

The velocity of travelling wave through a cable of relative permittivity of 9 is
(A) 9 x 10® metres/sec (B) 3 x 10® metres/sec
.108 metres/sec (D) 2 x 10® metres/sec

Which of the following statements is correct from power system stability point of view?
(A) The higher the initial load, the larger the critical clearing angle

.The higher the initial load, the lower the critical clearing angle

(C) The initial load has nothing to do with critical clearing angle

(D) The higher the operating time of the circuit breaker, the larger will be the critical
clearing angle

For a load flow solution, the quantities specified at the load bus are

@r:nao (B) P and |V|
(C) Q and |V| (D) P and load angle 6

An alternator having an induced emf of 1.6 pu is connected to an infinite bus having a voltage of
1.0 pu. If the bus-bar reactance is 0.6 pu and alterator reactance is 0.2 pu, the maximum power
that can be transferred is

(A) 8 pu @:ou

(C) 2.67 pu (D) 5 pu

The inrush current of a transformer at no load is maximum if the supply voltage is switched on
.at zero voltage value (B) at peak voltage value

(C) at V/2 value (D) at \3/2 V value

The insulation resistance of a cable of length 10 km is 1 MQ. For a cable of length 100 km, the
insulation resistance will be

(A) 10 MQ (B) 5 MQ
@o.1 v (D) 20 MQ

If positive, negative and zero sequence networks for a particular fault on the power system are
connected in parallel, the type of fault that has occurred is

(A) single line to ground fault .double line to ground fault
(C) line to line fault (D) open circuit
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169.

170.

171.

172.

173.

174.

175.

176.

177.

The voltages across the various discs of a string of suspension insulators having identical discs are
different due to

(A) surface leakage currents (B) series capacitance

.shunt capacitance to ground (D) series and shunt capacitances

Four identical alternators each rated for 20 MVA, 11 kV having a subtransient reactance of 16%
are working in parallel. The short circuit level at the bus-bars is

@500 Mmva (B) 400 MVA
(C) 125 MVA (D) 80 MVA

A string insulator has 4 units. The voltage across the bottom-most unit is 33.33% of the total
voltage. Its string efficiency is

(A) 25% (B) 33.33%
(C) 66.67% @5

A wave-trap is used at the termination of a HVAC overhead line to a station switchyard to
(A) prevent the transformer magnetising harmonics from reaching the overhead line

(B) damp the incoming surge waves from the overhead line

(C) attenuate sub-harmonic oscillations

.provide for carrier communication

In which one of the following models of transmission lines, is the full charging current assumed to
flow over half the length of the line only?

(A) Equivalent - 7t (B) Short line

(C) Nominal - © .Nominal-T

The percentage differential protection of a transformer protects the transformer against
(A) external faults .internal faults

(C) magnetising current inrush (D) overloading

The boundary of a protective system is determined by the location of

(A) circuit breakers (B) transformer

@ (D) PTs

For the protection of stator winding of an alternator against internal faults involving ground, the
relay used is a

.biased differential relay (B) directional overcurrent relay

(C) plain impedance relay (D) Buchholz relay

For the protection of a large squirrel cage induction motor against single phase, normally
(A) an over current relay is used (B) a differential relay is used

(C) a directional relay is used .negative sequence current relay is used
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178.

179.

180.

181.

182.

183.

184.

185.

186.

To prevent mal-operation of differentially connected relay while energising a transformer, the
relay restraining coil is biased with

.second harmonic current (B) third harmonic current

(C) fifth harmonic current (D) seventh harmonic current

Resistance switching is normally employed in
(A) all breakers (B) bulk oil circuit breakers

(C) minimum oil circuit breakers .air blast circuit breakers

An isolator is meant for

(A) breaking abnormal current

(B) making under fault conditions

.breaking the circuit under no load condition

(D) breaking the circuit under overload condition

The force between two small charged particles, separated by a distance of 3 m is 10 N. If the
distance between them now becomes 6 m, then according to Coulomb's law the force between them
would be

(A)20N (B)10N

(C)5N @:5~

Which of the following is not a vector quantity?

(A) Magnetic flux density .Volume charge density
(C) Electric flux density (D) Magnetic field intensity

IfE, V, J and p_denote electric field intensity, electric potential, current density and surface charge
density respectively, then which of the following gives Laplacian equation?

@v:v-o (B) V:V=E

©)viv=J (D) V*V =p,

Which of the following equations is correct for conductor-dielectric boundary condition? (Here D,

and D represent tangential and normal component of electric flux density 'D', while pv indicates
volume charge density)

(A)D,=p, (B)D,=p,
@p.-». (D)D,=0
The divergence of curl of magnetic field intensity is always
(A) unity (B) negative
(C) undefined @:cro

In an electrostatic field, the angle between electric field intensity vector and equipotential
surface is

(A)0 @0

(©) 120 (D) 180
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187.

188.

189.

190.

191.

192.

193.

194.

If H represents magnetic field intensity, then $H.dL = I(V x H).dS represents
.Stoke's theorem (B) Divergence theorem

(C) Poisson's theorem (D) Gaussian theorem

According to Maxwell, which term is additionally required to be considered (i.e. added) in the
equation V x H = J, for time varying fields?

@sp/a (B) 5B/dt
(C) S/dt (D) 5V/dt

The electric field intensity due to an infinite sheet charge at a point 4 m from the plane in which
the sheet charge is located, is found to be 20 kV/m. The electric field intensity at a point 8 m from
the plane would be

(A) 10 kV/m @:0 xv/m
(C)5kV/m (D) 40 kV/m

The divergence theorem gives relationship between
(A) line integral and surface integral

(B) line integral and volume integral

.surface integral and volume integral

(D) two surface inegrals

Electricity distribution company named Powerco, will be testing long distance wireless power
transmission technology developed by a start-up called Emrod in

(A) USA (B) Canada
ma ew Zealan
(C) Chi @~ ew Zealand

For a p-pole machine, the relation between electrical angle 6e and mechanical angle Om degrees is
given by

(A) 6e = (2/P)Om (B) Oe = pOm

(C) 6e = 6m @oc = »/2)6m

The primary current in a current transformer is dictated by

(A) the secondary burden (B) the core of the transformer
.load current (D) load voltage

DC series motors are best suited for traction because

(A) torque is proportional to the square of the armature current and speed is proportional to the
torque

.torque is proportional to the square of the armature current and speed is inversely proportional
to the torque

(C) torque and speed both are proportional to the square of the armature current

(D) none of the above
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195.

196.

197.

198.

199.

200.

201.

202.

A voltage waveform V(t) = 12t* is applied across a 1H inductor for t > 0, with initial current
through it being zero. The current through the inductor for t > 0 is given by

@+ (B) 12t

(C) 24t (D) 12¢

Two incandescent light bulbs of 40W and 60W having same voltage rating are connected in series
across the mains. Then which of the following statement is necessarily true?

(A) the bulbs together consume 100 W

(B) the bulbs together consume 50 W

(C) the 60W bulb glows more brighter

.the 40W bulb glows more brighter

A stand-alone synchronous generator is feeding a partly inductive load. A capacitor is now
connected across the load to completely nullify the inductive current. For this operating condition

(A) the field current and fuel input have to be reduced
(B) the field current and fuel input have to be increased
(C) the field current has to be increased and fuel input left unaltered

.the field current has to be reduced and fuel input left unaltered

A synchronous generator is feeding a zero power factor (lagging) load at rated current. The
armature current is

(A) magnetizing .demagnetizing

(C) cross magnetizing (D) ineffective

Two capacitors of capacitances 2 pF and 6 pF are connected in parallel across a 120V dc source.
The sum of total charges on the capacitors is

(A) 15 pC (B) 1980 pC

(C) 180 pC @960 pC

A double circuitline running between Vindhyachal and Varanasi which was recently commissioned
in July 2021 has a transmission voltage of

(A) 400 kV (B) 500 kV

@65 v (D) 1200 kV

The digital multiplexer is basically a combinational logic circuit to perform the operation

(A) AND - AND (B) OR-OR

@~ -or (D) OR - AND

Which semiconductor power device out of the following is not a current triggered device?
(A) Thyristor (B) G.T.O.

(C) Triac @viosrET
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203. A wound rotor induction motor is preferred over a squirrel cage induction motor, when the
major/consideration/considerations is/are

(A) large starting torque (B) low starting current

(C) speed control for limited range .all of the above

204. Signal flow graph is used to find
(A) Stability of the system (B) Controllability of the system
.Transfer function of the system (D) Poles of the system

205. If the HLT instruction of a 8085 microprocessor is executed, the microprocessor
(A) disconnected from the system bus till the reset is pressed
.enters into a halt state and the buses are tristated
(C) reloads the program from the locations 0024 and 0025H

(D) halts execution of the program and returns to monitor

206. Modern HVDC systems are all

(A) 3 pulse converter (B) 6 pulse converter
(C) 24 pulse converter .12 pulse converter

207. The analysis of multiple-input, multiple-output system is studied by
.state space approach (B) root locus approach
(C) characteristic equation approach (D) Nichols chart

208. Non-contact speed measurements can be carried out by

(A) Tachometer .Stroboscope
(C) Oscilloscope (D) Odometer

209. DC machines that are subjected to abrupt load changes are provided with
.Interpole windings (B) Compensating windings
(C) Equalisers (D) Copper brushes

210. What is full form of MPPT in reference of solar energy?
.Maximum Power Point Tracking (B) Maximum Power Point Tariff

(C) Minimum Power Point Tracking (D) Minimum Power Point Tariff

211. What is full form of GERC?
(A) Gujarat Electricity Regional Committee
(B) Gujarat Electricity Regional Commission
(C) Gujarat Electricity Regulatory Committee
.Gujarat Electricity Regulatory Commission
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212.

213.

214.

215.

216.

217.

218.

219.

220.

221.

In a sequenctial circuit, the outputs at any instant of time depends
(A) only on the inputs present at that instant of time

.on past outputs as well as present inputs

(C) only on the past inputs

(D) only on the present outputs

The TRIAC can be used only in

(A) Inverter (B) Rectifier
.Multiquadrant Chopper (D) Cycloconverter

A trigonometric Fourier series of a peridoic function can have only

(A) cosine terms (B) sine terms

(C) cosine and sine terms both .D.C. and cosine terms

In position control systems, the device used for providing rate feedback voltage is called
(A) Potentiometer (B) Synchro Transmitter
(C) Synchro Transformer .Tachogenerator

Which of the following interrupts are unmaskable interrupts?

(A) RST 5.5 (B) RST 7.5

@ rar (D) INTR

A d.c. motor runs at 1725 rpm at full load and 1775 rpm at no load. The speed regulation is
(A) 4.7% @29

(C)7.6% D) 1.5%

Under the conditions of maximum power transfer, a voltage source is delivering a power of 30 W
to the load. The power generated by the source is

(A)45W B)30 W

@0 w (D) 90 W

An electric fan and a heater are marked as 100 W, 220 V and 1000 W, 220 V respectively. The
resistance of the heater is

(A) More than that of the fan .Less than that of the fan

(C) Equal to that of the fan (D) Zero

Non-contact low measurement can be carried out by
(A) Orifice meter (B) Turbine flow meter
.Ultrasonic flow meter (D) Magnetic flow meter

Coolant used in thyristor/IGBT valves is

@i (B) SF6

(C) Freon (D) Oxygen
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222.

223.

224.

225.

226.

227.

228.

229.

230.

231.

What is full form of GEDA?

(A) Gujarat Energy Development Association
(B) Gujarat Electricity Development Association
.Gujarat Energy Development Agency

(D) Gujarat Electrical Development Agency

The first HVDC scheme in INDIA is

(A) Vidhyachal back-to-back System (B) Chadrapur-Padghe Scheme
(C) Delhi-Rihand 500KV system .Sileru-Barsoor System

The output of a 2-input OR gate is 0 only when it's

@soth inputs are 0 (B) Either input is 1

(C) Both inputs are 1 (D) Either input is 0

How many select lines would be required for an 8-line-to-1-line multiplexer?

A2 (B) 4

©)8 @:

A converts a fixed voltage DC source into a variable voltage DC source.

(A) Inverter (B) Rectifier

.Chopper (D) Cycloconverter

A TRIAC is

.3 terminal bidirectional switch (B) 3 terminal unidirectional switch
(C) 2 terminal switch (D) 2 terminal bilateral switch

Graphical representation of a signal in time domain is called
(A) Frequency System (B) Frequency
.Waveform (D) None of the above

A cumulatively compounded motor does not run at dangerous speed at light loads because of the
presence of

.shunt winding (B) series winding

(C) interpoles (D) compensating windings

Which of the following logic family is fastest of all?

(A) TTL (B) RTL

(C) DCTL @:cL

In force voltage analogy, velocity is analogous to

.Current (B) Charge

(C) Inductance (D) Capacitance
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232,

233.

234.

235.

236.

237.

238.

239.

240.

241.

The type 0 system has at the origin.

.no pole (B) net pole

(C) simple pole (D) two pole

In a single-phase half wave inverter, SCR(s) is/are gated at a time.
.one (B) two

(C) three (D) four

The output of a single-phase half bridge inverter on R load is ideally
(A) A sine wave (B) A cosine wave
.A square wave (D) A constant DC

In an inverse definite time electromagnetic over current relay, the minimum time feature is
achieved because of

.saturation of the magnetic circuit (B) proper mechanical design

(C) appropriate time delay element (D) electromagnetic damping

HVDC transmission is mainly used for

.bulk power transmission over very long distance

(B) inter connecting two systems with the same nominal frequency
(C) eliminating reactive power requirement in the operation

(D) minimizing harmonics at the converter stations

The origin for the investigation of closed loop stability in relation to Nyquist criterion is

@ (B)+1+j0

(C)0+j1 D) o-j1

The initial slope of the bode plot gives an indication of the

.type of system (B) nature of the system time response
(C) system stability (D) gain margin

The decimal equivalent of the hexadecimal number ES5 is

(A) 279 @:2

(C) 427 (D) 3000

In a microprocessor, the resistor which holds the address of the next instruction to be fetched is
(A) Accumulator .Program Counter

(C) Stack Pointer (D) Instruction Register

If the fault current is 2000A, the relay plug setting is 50% and the CT ratio is 200/5, then the plug
setting multiplier will be

(A) 25 @0

(©)s0 (D) 45
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242.

243.

244.

245.

246.

247.

248.

249.

250.

251.

In a d.c. generator, the armature reaction

(A) weakens the flux at the trailing pole tip
.weakens the flux at the leading pole tip
(C) strengthens the flux at the leading pole tip

(D) none of the above

What is full form of THD in the context of inverter output waveform?

(A) Total Harmonic Disorder (B) Theoretical Harmonic Distortion
.Total Harmonic Distortion (D) Theoretical Harmonic Disorder
A converts a fixed voltage DC source into a AC source.
Inverter (B) Rectifier
(C) Chopper (D) Cycloconverter
Analog Signals can be converted into discrete time signals by
@sampling (B) Coding
(C) Quantizing (D) None of the above

The number of pins in 8085 microprocessor are

(A) 27 &@-o

©) 15 (D) 36

The combinational circuit that can add two binary numbers, accept a carry and yield a carry is a
(A) multiplexer (B) demultiplexer

(C) half adder circuit .full adder circuit

If the flux per pole of the d.c generator is halved but, its speed is doubled, its generated emf will
(A) be halved .remain the same

(C) be doubled (D) be quadrupled

In an 8085 microprocessor, after the execution of XRA A instruction
(A) The carry flag is set

(B) The accumulator contains FFH

.The zero flag is set

(D) The accumulator contents are shifted left by one bit

A 60 W lamp, given a luminous flux of 1500 lumen will have an efficiency of

(A) 1500 lumen/watt (B) 250 lumen/watt
@25 lumen/watt (D) 2.5 lumen/watt
When the load on the transformer is increased, the eddy current

(A) is increased .remains unchanged
(C) is decreased (D) becomes zero
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252.

253.

254,

255.

256.

257.

258.

259.

260.

261.

Bundled conductors are mainly used in high voltage overhead transmission lines to

(A) reduce transmission line losses (B) increase mechanical strength of the line
.reduce corona (D) reduce sag
It is desirable that voltage regulation of a transmission line should be
(A) high @ ow
(C) 90% (D) infinite
The 2's complement representation of (— 17) is
(A) 01110 (B) 01111
@110 (D) 10001
If a JK flip flop toggles more than once during one clock cycle, it is called
(A) Bouncing .Racing
(C) Pinging (D) Spiking
Cycloconverter converts
(A) Fixed dc to variable ac (B) Fixed dc to variable dc
(C) Fixed ac to variable dc .F ixed ac to variable ac
What is mean by ALU?
(A) Arithmetic logic upgrade (B) Arithmetic logic unsigned
(C) Arithmetic local unsigned .Arithmetic logic unit
is the process of turning off a thyristor.
.Commutation (B) Triggering
(C) Firing (D) Latching
Regenerative braking mode can be achieved in which quadrant (V-I curve)?
(A) Third @sccond
(C) Fourth (D) First
Type-A chopper is used for obtaining which type of mode?
.Motoring mode (B) Regenerative braking mode
(C) Reverse motoring mode (D) Reverse regenerative braking mode

In a double cage induction motor, good starting torque is produced because at starting,

.Impedance of the outer winding is less than that of the inner winding, causing a large portion
of the current to flow through the outer winding

(B) Impedance of the outer winding is more than that of the inner winding, causing a large portion
of the current to flow through the outer winding

(C) Impedance of the inner winding is less than that of the outer winding, causing a large portion
of the current to flow through the inner winding

(D) Impedance of the inner winding is more than that of the outer winding, causing a large portion
of the current to flow through the inner winding
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262.

263.

264.

265.

266.

267.

268.

269.

In an autotransformer, the primary and secondary are
(A) only magnetically coupled (B) only electrically coupled
.magnetical]y as well as electrically (D) not coupled at all

The transfer function is defined as

.The ratio of Laplace transform of output to Laplace transform of input considering initial
condition as zero.

(B) The ratio of Laplace transform of input of Laplace transform to output considering initial
condition as zero.

(C) The ratio of input to output

(D) The ratio of error to input

Unit impulse response of a system in Laplace transform form gives
.Transfer function (B) System gain
(C) Unit step function (D) Unit ramp function

For a stable system

.Gain Margin & Phase Margin both are positive

(B) Gain Margin & Phase Margin both are negative

(C) Gain Margin positive & Phase Margin both are negative
(D) Gain Margin negative & Phase Margin both are positive

The corona effect is

(A) The air surrounding the conductor becomes conducting and as a result, the virtual diameter
of the conductor is decreased

(B) The air surrounding the conductor is unaffected and there is no change in the virtual diameter
of the conductor

.The air surrounding the conductor becomes conducting and as a result, the virtual diameter
of the conductor is increased

(D) The air surrounding the conductor is unaffected but, there is a decrease in the virtual diameter
of the conductor.

In a SCR, for dv/dt protection with RC circuit is known as

(A) Crowbar Circuit (B) Turn on Circuit

@ snubber Circuit (D) Turn off Circuit

What is full form of GTO in context of thyristor classification?

(A) Gate turn on Thyristor (B) Gate trigger on Thyristor
(C) Gate testing on Thyristor .Gate turn off Thyristor

A closed loop control system has the characteristic equation given by s* +4.5s2+3.5s+1.5=0.
Comment upon the stability using Routh Hurwitz criterion.

.System is stable (B) System is unstable
(C) System is marginally stable (D) System is critically stable
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270. Which type of chopper is known as four quadrant chopper?

(A) Class A Chopper (B) Class B Chopper

(C) Class D Choppper .Class E Chopper
271. An ideal current source has zero

.internal conductance (B) internal resistance

(C) voltage on no load (D) ripple

272. (52)10=( )2
(A) (110110) 2 (B) (110101) 2
@ 110100) 2 (D) (100100) 2

273. At maximum power point of the solar cell
(A) current is maximum

(B) voltage is maximum

(C) both voltage and current are maximum

.the product of voltage and current is maximum

274. Which of the following is known as Universal Gate?
(A) OR (B) NOT
(C) AND @ror

275. What is the maximum number of inputs a NOT gate can have?

A)1 (B) 2

©3 (D)4
276. The device commonly used for triggering a TRIAC is a
(A) Diode @viac
(C) Transistor (D) Thyristor

277. If the output of a rectifier is pure DC, then the ripple factor will be

& B) 1

O1.21 (D) 0.48

278. The minimum current below which a thyristor stops conduction is known as the
(A) Saturation Current (B) Gate Current
(C) Electron Current .Holding Current

279. In a critically damped system,
(A) oscillations are prominent (B) no oscillations are observed
.oscillations just disappear (D) oscillations are sustained

280. Equalizer circuits are provided across each SCR in series operation to provide uniform
(A) current distribution .Voltage distribution
(C) firing of SCRs (D) all of the above
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281.

282.

283.

284.

285.

286.

287.

288.

289.

290.

The roots of a characteristic equation are same as the

(A) closed loop zeros .closed loop poles
(C) open loop zeros (D) open loop poles
Double integration of a unit step function would give

(A) an impulse .a parabloa

(C) Aramo (D) A doublet

On the two sides of a star delta transformer,

(A) Voltages and currents are both in phase

.Voltages and currents both differ in phase by 30°

(C) Voltages differ in phase by 30° but currents are in phase
(D) Currents differ in phase by 30° but voltages are in phase

The root locus separates at a point between two open loop poles, the point is called
(A) Critical Point (B) Crossover Point
(C) Shift Point @5 rcakaway Point

For 0% overshoot the damping ratio for a second order system is
A)<1 B)>1

(C) Zero .1

In a salient pole synchronous machine, the air gap is

(A) Uniform under the whole pole shoe

.Least under the middle of the pole shoe and increases outside

(C) Largest under the middle of the pole shoe and decreases outwards

(D) Least at one end of the pole shoe and increases to the maximum value at the other end

An increase in the damping ratio
(A) increases rise time .decreases rise time

(C) does not affect rise time (D) keeps the time within limits

The Geothermal Energy is related with

(A) Sun (B) Water

(C) Air @:1:ana

The vertical angle between the projection of the Sun's rays on the horizonal plane and the direction
of Sun's rays (passing through the point)

.Altitude Angle (B) Solar Azimuth Angle

(C) Zenith Angle (D) Surface Azimuth Angle

Which number system has a base of 16?
(A) Decimal (B) Octal
.Hexadecimal (D) Binary
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291.

292.

293.

294.

295.

296.

297.

298.

299.

300.

CPU stands for
(A) Common Purpose Unit .Central Processing Unit
(C) Central Point Unit (D) Common Processing Unit

The value of the intrinsic stand off ratio for the UJT lies between

(A) Between 0 and 0.3 (B) Between 1 and 2

(C) Zero .Between 0.51 and 0.82
The air gap in an alternator, as compared to an induction motor is

(A) much shorter .much longer

(C) about the same (D) zero

When the varying frequncy of an ac motor is produced by rapidly switching the output of the
circuit on and off several time during each half-cycle, it is referred to as

@ruise width modulation (B) Pulse width control

(C) Pulse Amplitude modulation (D) Pulse amplitude control
While increasing the value of the gain factor K, the system becomes

.less stable (B) more stable

(C) unstable (D) absolutely stable

In which year Gujarat state government has announced wind solar hybrid policy?
@018 (B) 2019

(©) 2020 (D) 2021

A 3-phase induction machine draws active power P and reactive power Q from the grid. If this
machine is operated as a generator, P and Q will respectively be

(A) positive and negative (B) positive and positive
(C) negative and negative .negative and positive
In HVDC, VSC schemes filters are used

@ only on the AC side (B) Only on the DC side
(C) Both AC and DC side (D) No filter is needed

The maximum value of the harmonic current depends on
(A) Firing Angle (B) Overlap Angle
(C) DC current .Both firing and overlap angle

The ground currents in HVDC system flow through

(A) Small Area

(B) Small Area along the line

.Very large area and do not confine to the route of the line

(D) Very large area along the route of the line
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